2016 October

2016 October

Track Control Arm

TEIOROT
2016

OCTOBER

Wishbone
Axial Joint
Tie Rod End

Ball Joint

Stabiliser Link
Bush (Bushing)

1S0 8001:2008

BUREAU VERITAS
Certification

5
TV | —
1828
vV
150 TS 16949 %
BUREAU VERITAS
Certification
7828 | —
U Ve
150 14001 |
BUREAU VERITAS |
Certification
182
U | —
2
|

www.teknorot.com info@teknorot.com

1 SUSPENSION PARTS,

Page 1



2016 October

i AUDI A8 (4H) 2011 -
TEKNOROT REF DESCRIPTION OEM NO
A-656 LOWER CONTROL ARM RH 4H0407694D A =2406 GR
4H0407694E B =M14x1,5
4H0407694F
COMPONENT COMPONENT NAME
SB 916 BUSHING (A)LENGTH/ WEIGHT
(B)BOLT METRIC
[ <Y (C) HOUSING METRIC
1
2 AUDI A8 (4H) 2011 -
-~
D¢
TEKNOROT REF DESCRIPTION OEM NO
A-657 LOWER CONTROL ARM LH 4H0407693D A =2406 GR
4H0407693E B = M14x1,5
4H0407693F
COMPONENT COMPONENT NAME
SB 916 BUSHING (A) LENGTH / WEIGHT
= (B)BOLT METRIC
j (C) HOUSING METRIC
3 BMW X3 (F25) 2010 -
s\~ S\
by
w2
TEKNOROT REF DESCRIPTION OEM NO
B-884 TRACK CONTROL ARM LOWER LH 31126787670 A =L-298MM / 1550 GR
B =M14X1.5
COMPONENT COMPONENT NAME
BUSH SB 954 it (A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
4 BMW X3 (F25) 2010 -
(LR I
TEKNOROT REF DESCRIPTION OEM NO NOTES
B-885 TRACK CONTROL ARM LOWER RH 31126787669 A =L-298MM / 1550 GR
B = M14X1.5
COMPONENT COMPONENT NAME
BUSH SB 954 . (A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 2



2016 October

BMW 5-SERIES EG60 - E61 4x4 xdrive

5 BMW X4 (F26) 2014 -
L s ¥ z
TEKNOROT REF DESCRIPTION OEM NO NOTES
B-884 TRACK CONTROL ARM LOWER LH 31126787670 A =L-298MM / 1550 GR
B =M14X1.5
COMPONENT COMPONENT NAME
BUSH SB 954 (A)LENGTH/ WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
6 BMW X4 (F26) 2014 -
TEKNOROT REF DESCRIPTION OEM NO NOTES
B-885 TRACK CONTROL ARM LOWER RH 31126787669 A =L-298MM /1550 GR
B =M14X1.5
COMPONENT COMPONENT NAME
BUSH SB 954 (A)LENGTH / WEIGHT

(B)BOLT METRIC
(C) HOUSING METRIC

07/2003 - 03/2010

BMW 5-SERIES E60 - E61 4x4 xdrive

— .

TEKNOROT REF DESCRIPTION OEM NO NOTES
B-936 LINK STABILIZER FRONT RH 31306781550 A =L-420mm /500 GR
31356768084 B =M10x1.5
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

07/2003 - 03/2010

TEKNOROT REF DESCRIPTION OEM NO NOTES
B-937 LINK STABILIZER FRONT LH 31306781549 A =L-420mm /500 GR
31356768083 B =M10x1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 3




2016 October

CHEVROLET CAMARO

2010 - 2015

TEKNOROT REF DESCRIPTION OEM NO NOTES
CH-631 TIE ROD (RH/LH) 92241266 A =L-112MM/ 596 GR
B = 12X1.75
C = M14X15
COMPONENT COMPONENT NAME
(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
10 CHEVROLET CAMARO 2010 - 2015
e —
TEKNOROT REF DESCRIPTION OEM NO NOTES
CH-633 AXIAL JOINT 92227430 A = L-300MM / 658 GR
B = M14x15
C = M20x15
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

BUICK ENCLAVE 2008 - 2015
- > " : i’l""“‘ e
TEKNOROT REF DESCRIPTION OEM NO NOTES
CH-914 BUSH - TORSION SPORT REAR 15148024 A =505GR
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

12 CHEVREOLET TRAVERSE 2009-2015 2009-2015
i
TEKNOROT REF DESCRIPTION OEM NO NOTES
CH-914 BUSH - TORSION SPORT REAR 15148024 A =505GR
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 4



2016 October

GMC ACADIA 2007-2015 2007-2015

TEKNOROT REF DESCRIPTION OEM NO NOTES
CH-914 BUSH - TORSION SPORT REAR 15148024 A =505GR
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

CHRYSLER 300 2005 - 2015

TEKNOROT REF DESCRIPTION OEM NO NOTES
CR-125 BALL JOINT LOWER 68159271AA A =524 GR
B = M14X1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C ) HOUSING METRIC

CHRYSLER 300 C 2005 - 2015
—
4
TEKNOROT REF DESCRIPTION OEM NO NOTES
CR-125 BALL JOINT LOWER 68159271AA A =524 GR
B =M14X1.5
COMPONENT COMPONENT NAME
(A) LENGTH/ WEIGHT
(B)BOLT METRIC
(C)HOUSING METRIC
16 DOODGE CHALLENGER 2008 - 2015
—
4
TEKNOROT REF DESCRIPTION OEM NO NOTES
CR-125 BALL JOINT LOWER 68159271AA A =524 GR

B = M14X1.5

COMPONENT COMPONENT NAME
(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October Page 5



2016 October

DODGE CHARGER 2006 - 2015 2006 - 2015

TEKNOROT REF DESCRIPTION OEM NO NOTES
CR-125 BALL JOINT LOWER 68159271AA A =524 GR
B =M14X1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

DODGE MAGNUM 2005 - 2008

TEKNOROT REF DESCRIPTION OEM NO NOTES
CR-125 BALL JOINT LOWER 68159271AA A =524 GR
B = M14X1.5
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FIAT EGEA (TIPO 356) 10/2015 -

TEKNOROT REF DESCRIPTION OEM NO NOTES
F-431 TIE ROD END 77367379 A =135MM
B =M10X1.5
C =M14X1.5
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FIAT EGEA (TIPO 356) 10/2015 -

TEKNOROT REF DESCRIPTION OEM NO NOTES
F-435 BALL JOINT 52026562 A =654 GR
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October Page 6



2016 October

21 FORD EXPLORER 2010 - 2015
JAE—
Fote )
Y=Corsg
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-382 TIE ROD END BB5Z3A130B A=1125MM /618 GR
B = M14x2
C =M14x1,5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FORD POLICE INTERCEPTOR SEDAN 2013 -
7 - N
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-382 TIE ROD END BB5Z3A130B A=112,5MM /618 GR
B = M14x2
C =M14x1,5
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FORD POLICE INTERCEPTOR UTILITY 2015 -
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-382 TIE ROD END BB5Z3A130B A=112,5MM /618 GR
B = M14x2
C =M14x1,5
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2013 -
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-382 TIE ROD END BB5Z3A130B A=112,5MM /618 GR
B = M14x2
C =M14x1,5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 7



2016 October

28 FORD EXPLORER 2010 - 2015

-

TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-383 AXIAL JOINT BB5Z3280A A =1-302.6MM / 655 GR
B =M14X1.5
C = M16X1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FORD POLICE INTERCEPTOR SEDAN 2013 -
5 - <

53-_-

TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-383 AXIAL JOINT BB5Z3280A A =1-302.6MM /655 GR
B = M14X1.5
C = M16X1.5
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

27 FORD POLICE INTERCEPTOR UTILITY 2015 -

TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-383 AXIAL JOINT BB5Z3280A A =1-302.6MM / 655 GR
B =M14X1.5
C = M16X1.5
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

28 LINCOLN MKT 2013 -

L —

TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-383 AXIAL JOINT BB5Z3280A A =1-302.6MM / 655 GR
B =M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October Page 8



2016 October

= e L
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-533 AXIAL JOINT 1377655 A =L-293MM /590 GR
4M513L519AB B = M16X1.5
C =M14X1.5
COMPONENT COMPONENT NAME
(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
30 FORD MUSTANG 2005 - 2010
lll—.—
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-633 AXIAL JOINT 9R3Z3280B A =L-350.5MM /678 GR
B =M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

FORD MUSTANG 2005 - 2010
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-636 LINK STABILIZER REAR 5R3Z5C488AA A =L-175MM/ 385 GR
COMPONENT COMPONENT NAME
SB 962 BUSHING (A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
SB 963 BUSHING '

FORD MUSTANG 2005 - 2010
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-637 LINK STABILIZER REAR 5R3Z5C488BA A =L-175MM/ 385 GR
COMPONENT COMPONENT NAME
SB 962 BUSHING (A)LENGTH / WEIGHT
(B)BOLT METRIC

(C) HOUSING METRIC

SB 964 BUSHING '

2016 October

Page 9



2016 October

FORD MUSTANG

—e

TEKNOROT REF DESCRIPTION OEM NO

2010 - 2015

FORD MUSTANG

*—e

TEKNOROT REF DESCRIPTION OEM NO

NOTES
FO-646 LINK STABILIZER REAR CR3Z5C488Q A =L-175MM /397 GR
COMPONENT COMPONENT NAME
SB 962 BUSHING (A)LENGTH/ WEIGHT
' (B)BOLT METRIC
(C) HOUSING METRIC
SB 965 BUSHING '

2010 - 2015

SB 962 BUSHING

SB 966 BUSHING '

NOTES
FO-647 LINK STABILIZER REAR CR3Z5C488R A =L-175MM /397 GR
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

HYUNDAI 120 I
TEKNOROT REF DESCRIPTION OEM NO
HY-451 TIE ROD END RH 56820-C8900

35 FORD TRANSIT 04/2014 -
TEKNOROT REF DESCRIPTION OEM NO NOTES
FO-865 BALL JOINT LOWER 1817754 A =928 GR
KTBK313K209AA B = M20X1.5
reinforced susp.
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

11/2014 -

NOTES

A =L-78MM /390 GR
B = M10x1.25
C=M14x1.5

COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 10



2016 October

HYUNDAI | 20 I 11/2014 -

W .
TEKNOROT REF DESCRIPTION OEM NO NOTES
HY-452 TIE ROD END LH 56820-C8000 A =L-78MM /390 GR
B = M10x1.25
C=M14x1.5
COMPONENT COMPONENT NAME
(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
KIA SORENTO il 01/2015 -
TEKNOROT REF DESCRIPTION OEM NO NOTES
KI-166 LINK STABILIZER REAR 55530-C5000 A=L-116MM /390 GR
55540-C5000 B=M12x1.25
C=M12x1.25
COMPONENT COMPONENT NAME
(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
MERCEDES VITO / VIANO 2011 - 2014
TEKNOROT REF DESCRIPTION OEM NO NOTES
M-648 WISHBONE (WITH BALL JOINT) RH 6393301301 A =6250 GR
6393301501
FACELIFT VERSION
COMPONENT COMPONENT NAME
M-665 BALL JOINT (A) LENGTH / WEIGHT
ﬁ (B)BOLT METRIC
SB 934 SMALL BUSHING ‘ (C) HOUSING METRIC
SB 844 BIG BUSHING '
MERCEDES VITO / VIANO 2011 - 2014
TEKNOROT REF DESCRIPTION OEM NO NOTES
M-649 WISHBONE (WITH BALL JOINT) LH 6393301201 A =6250 GR
6393301401
FACELIFT VERSION
COMPONENT COMPONENT NAME
M-665 BALL JOINT (A)LENGTH / WEIGHT
i (B)BOLT METRIC
SB 934 SMALL BUSHING ‘ (C) HOUSING METRIC
SB 933 BIG BUSHING '

2016 October Page 11



2016 October

NISSAN TEANA (J32) 2009 - 2013
TEKNOROT REF DESCRIPTION OEM NO NOTES
N-648 WISHBONE (WITH BALL JOINT) RH 54500-JNOOB A= 4303 GR
COMPONENT COMPONENT NAME

SB 911 T (A ) LENGTH/ WEIGHT
\ (B)BOLT METRIC
= (C) HOUSING METRIC

SB 912

2009 - 2013
TEKNOROT REF DESCRIPTION OEM NO NOTES
N-649 WISHBONE (WITH BALL JOINT) LH 54501-JN0OOB A = 4303 GR
COMPONENT COMPONENT NAME
SB 911 T (A)LENGTH / WEIGHT
‘\ (B)BOLT METRIC
_ (C) HOUSING METRIC
SB 912

43 NISSAN ALTIMA 2013 -
=
TEKNOROT REF DESCRIPTION OEM NO NOTES
N-693 AXIAL JOINT D85213TAOA A= L=226.5mm / 542 GR
B=M14x1.5
C=M16x1.5
COMPONENT COMPONENT NAME
(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
44 OPEL ASTRA GTC (J) 12/2009 - 05/2015
TEKNOROT REF DESCRIPTION OEM NO NOTES
0-536 LINK STABILIZER FRONT RH 13285628 A =L-290MM /420 GR
350193 B = M12X1.75
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 12



2016 October

45 OPEL ASTRA GTC (J)

&

12/2009 - 05/2015

TEKNOROT REF DESCRIPTION OEM NO NOTES
0-537 LINK STABILIZER FRONT LH 13282834 A =L-290MM /420 GR
350192 B =M12X1.75
COMPONENT COMPONENT NAME
(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
46 PEUGEOQOT 308 (I1) 09/2013 -
®,
TEKNOROT REF DESCRIPTION OEM NO NOTES
P-674 TIE ROD END RH 1610817880 A =1L-215MM /838 GR
B =M12X1.5
C =M14X1.5
COMPONENT COMPONENT NAME
( A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
47 PEUGEOQOT 308 (I1) 09/2013 -
&
; b-
TEKNOROT REF DESCRIPTION OEM NO NOTES
P-675 TIE ROD END LH 1610817780 A =L-215MM / 838 GR
B =M12X1.5
C =M14X1.5
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

48 CITROEN C4 PICASSO 2014 -
ﬂ“ -
e @
= = -d
TEKNOROT REF DESCRIPTION OEM NO NOTES
P-674 TIE ROD END RH 1610817880 A =L-215MM /838 GR
B =M12X1.5
C =M14X1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 13



2016 October

49 CITROEN C4 PICASSO 2014 -
A )
TEKNOROT REF DESCRIPTION OEM NO NOTES
P-675 TIE ROD END LH 1610817780 A =L-215MM /838 GR
B = M12X1.5
C =M14X1.5
COMPONENT COMPONENT NAME
(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C ) HOUSING METRIC
50 NISSAN TEANA (J32) 2009 - 2013
, -
\
TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 911 TRACK CONTROL ARM BUSHING part of 54500-JN00B/54501-JNOOB
COMPONENT COMPONENT NAME
51 NISSAN TEANA (J32) 2009 - 2013
TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 912 TRACK CONTROL ARM BUSHING part of 54500-JNO0B/54501-JNOOB
COMPONENT COMPONENT NAME
52 BMW X3 (F25) 2010 -
CE-
TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 954 TRACK CONTROL ARM BUSHING part of 31126787669/70
COMPONENT COMPONENT NAME

2016 October

Page 14



2016 October

53 FORD MUSTANG 2005 - 2015
— Y
TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 962 LINK STAB. BUSH FO-636/7 FO-646/7
COMPONENT COMPONENT NAME

FORD MUSTANG

2005 - 2010

FORD MUSTANG

TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 963 LINK STABILIZER BUSH FO-636
COMPONENT COMPONENT NAME

2005 - 2010

TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 964 LINK STABILIZER BUSH FO-637
COMPONENT COMPONENT NAME
56 FORD MUSTANG 2010 -2015
TEKNOROT REF DESCRIPTION OEM NO NOTES
SB 965 LINK STABILIZER BUSH FO-646
COMPONENT COMPONENT NAME

2016 October

Page 15



2016 October

FORD MUSTANG

TEKNOROT REF DESCRIPTION OEM NO

2010 - 2015

GIAEC

== ===

NOTES
SB 966 LINK STABILIZER BUSH FO-647
COMPONENT COMPONENT NAME
SUBARU FORESTER (SH) 2008 - 2013
TEKNOROT REF DESCRIPTION OEM NO NOTES
SU-613 AXIAL JOINT 34160-XA010 A =L-325MM /630 GR
B =M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME
(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
59 SUBARUIMPREZA GE, GH, GR, GV) 01/2008 - 11/2011

TEKNOROT REF DESCRIPTION OEM NO NOTES
SU-613 AXIAL JOINT 34160-XA010 A =L-325MM /630 GR
B = M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME
(A ) LENGTH /WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
60 LEXUS RX350 2010 - 2016
P ok
TEKNOROT REF DESCRIPTION OEM NO NOTES
T-284 BALL JOINT RH 43330-09780 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 16



2016 October

LEXUS RX350 2010 - 2016

/IR

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-285 BALL JOINT LH 43340-09140 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

62 LEXUS RX450h 2010 - 2016
W g i
TEKNOROT REF DESCRIPTION OEM NO NOTES
T-284 BALL JOINT RH 43330-09780 A =1014 GR

B=M14x 1.5

COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

LEXUS RX450h 2010 - 2016

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-285 BALL JOINT LH 43340-09140 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

TOYOTA HIGHLANDER 2008 - 2016

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-284 BALL JOINT RH 43330-09780 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October Page 17



2016 October

2008 - 2016

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-285 BALL JOINT LH 43340-09140 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

'TOYOTA SIENNA 2011 - 2016

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-284 BALL JOINT RH 43330-09780 A =1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A ) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

'TOYOTA SIENNA
.«"’.’) z

2011 - 2016

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-285 BALL JOINT LH 43340-09140 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2009 - 2016

TEKNOROT REF : DESCRIPTION OEM NO NOTES

T-284 BALL JOINT RH 43330-09780 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October Page 18



2016 October

2009 - 2016

TOYOTA LAND CRUISER J 90

-

e

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-285 BALL JOINT LH 43340-09140 A=1014 GR
B=M14x 15
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

04/1996 - 2002

TOYOTA LAND CRUISER J150

DESCRIPTION

@

E—

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-730 LINK STABILIZER FRONT 48820-35030 A =L=128mm /290 GR
48820-AD010 B =M12x1.25
C=M10x1.25
COMPONENT COMPONENT NAME
(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C ) HOUSING METRIC
v TOYOTA 4RUNNER 1996 - 2002
TEKNOROT REF DESCRIPTION OEM NO NOTES
T-730 LINK STABILIZER FRONT 48820-35030 A =L1L=128mm /290 GR
48820-AD010 B =M12x1.25
C=M10x1.25
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

03/2010 -

TEKNOROT REF OEM NO NOTES
T-791 TIE ROD END 45046-69245 A= 123MM /546 GR
B =M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 19



2016 October

2010 - 2016

TOYOTA HIACE IV

“lfﬁ
TEKNOROT REF DESCRIPTION OEM NO NOTES
T-791 TIE ROD END 45046-69245 A = 123MM /546 GR
B = M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME
(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC
74 TOYOTA FJ CRUISER 2009 - 2014
4
TEKNOROT REF DESCRIPTION OEM NO NOTES
T-791 TIE ROD END 45046-69245 A= 123MM /546 GR
B =M14X1.5
C =M16X1.5
COMPONENT COMPONENT NAME
(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C ) HOUSING METRIC
75 TOYOTA HIACE IV 07/1999 - 08/2006
TEKNOROT REF DESCRIPTION OEM NO NOTES
T-916 LINK STABILIZER REAR RH 48820-26020 A = L-90MM 287 GR
B = M12X1.25
COMPONENT COMPONENT NAME

(A) LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

07/1999 - 08/2006

TEKNOROT REF DESCRIPTION OEM NO NOTES
T-917 LINK STABILIZER REAR LH 48810-26020 A =L-90MM 287 GR
B = M12X1.25
COMPONENT COMPONENT NAME

(A)LENGTH / WEIGHT
(B)BOLT METRIC
(C) HOUSING METRIC

2016 October

Page 20



